正规课第2次作业主要错误点

Question 26
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主要错误：
1、 大多数同学能正确求解此题。（Most students can solve this problem correctly.）
2、 （a）题，部分同学会出现以下错误求解方法。（Some students in question (a) will have the following error solving methods.）
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Answer:
[image: ]


Question 33
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主要错误：
1、 大多数同学能正确求解此题。（Most students can solve this problem correctly.）

Answer:
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Question 35
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主要错误：
1、 大多数同学能正确求解此题。（Most students can solve this problem correctly.）
2、 少数同学不能给出（c）的证明过程。（A few students can not give the proof process of (c).）

Answer:
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33.  (a) Solution:

Given ¢ > 0, let § = . Then if 0 < [z — a| < &, we have [+ — a| < § = ¢. So limz = a
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35.  Use the definition of limit to prove the following.

(a) liil%(.’l,‘?—.’l'—:i) =-1 (b) luu1 P +dr4d) =1 (c) lini(2:172—2:1:+3) =3
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(a) Solution:
Let € > 0. Define § = min(1,/4) and let 2 be such that 0 < |z — 2| < 5.

Since 6 = min(1, ¢/4) it follows that § < 1 so that |z —2| < 1. Thus —1 <& —2 < 1,
so that 2 < o +1 < 4, so that [z + 1] < 4.

Now

I(a* == 3) = (1) = |* —2 =2|

=l@+1)(z—-2)|
=l 1] e -2
<4-9

<d-e/d

=c

so that overall we have 3) — (~1)| < € as required.
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26. Evaluate the limit if it exists. If it does not, explain why.

_3x+49 _ 3r+9
(a) lim, [z + 3] (b) limy [z + 3|
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26. (a) Does not exist.
(b) 3
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33.  Use the definition of limit to prove the following.

(a) limz = a. (b) lime = e¢. (c) lin[1) [z] = 0.
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